MATHS

BOOKS - PEARSON IIT JEE FOUNDATION

RATIO, PROPORTION AND VARIATION

1. Express 75:87 in its simplest form.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pGCmXpPTf9rq

2. Compare the ratios 3:4 and 17:24

° Watch Video Solution

3. Divide Rs 360 in the ratio 4:5

o Watch Video Solution

4. Divide Rs 207 among three friends AB and C in the

t111
ra|o643

o Watch Video Solution



https://dl.doubtnut.com/l/_R0xQVhXjSGBr
https://dl.doubtnut.com/l/_A7NxBHR7dGHk
https://dl.doubtnut.com/l/_MJbY3EQpK0AP
https://dl.doubtnut.com/l/_swU1ZecWSTTU

5.1f A:B=2:3 and B:C=4:17, then find A:B:C

o Watch Video Solution

6. if A=2B and B=3C, then find A:C.

° Watch Video Solution

7. A question paper consist of questions, each carrying
2 mark, 1 mark and 2 marks ini the ratio 2:2:1. if the
maximum mark in the exam is 100, then find the

number of questions of each type.

° Watch Video Solution



https://dl.doubtnut.com/l/_swU1ZecWSTTU
https://dl.doubtnut.com/l/_694s5FGzk4mN
https://dl.doubtnut.com/l/_mUaaK4DPaWpK

8. Ther atio of marks obtained by Rajesh, rakesh annd

Ramesh in an exam is 2:4:9. find the marks obtained

by Rakesh and Ramesh, if Rajesh scored30 marks in

the exam.

o Watch Video Solution

Y
b2 — 2 c2

T
a2_b2

x+y+z=0.

o. if

z
5 then prove that

—Qa

° Watch Video Solution



https://dl.doubtnut.com/l/_dRkAxmYHcEwI
https://dl.doubtnut.com/l/_CDss2cewDzTm

10.1f < = Yy _ %, then prove that each ratio is

a

1
3z3 — 11y% + 1323 )5

equal to
q ( 3a® — 11b% + 13¢3

° Watch Video Solution

Mifz:y:z=3:4:5 and z° + y° + 2° = 1728, then

find (z — y + 2)

° Watch Video Solution

12. the incomes of Rajesh and Mahesh are in the ratio

7:9 and their savings are in the ratio 5:7. what is the


https://dl.doubtnut.com/l/_4EL9fJ680NHc
https://dl.doubtnut.com/l/_Fyj6f1jQyyY8
https://dl.doubtnut.com/l/_YcKMQkQNyjw8

ratio of their expenditures in the same order, if

Mahesh saves two third of his income?

° Watch Video Solution

2 +y

13.|f$y = 3: 2 then find m

° Watch Video Solution

14. Verify whether 2,3,4 and 6 are in proportion

° Watch Video Solution



https://dl.doubtnut.com/l/_YcKMQkQNyjw8
https://dl.doubtnut.com/l/_L4FGS9i9zKUy
https://dl.doubtnut.com/l/_faswZ12Gfpfk

15. Determine the fourth proportional to the numbers

5,6 and 8.

° Watch Video Solution

16. Finid the mean proportional between 6 and 24.

o Watch Video Solution

17.1f 6 men can do a piece of work in 8 days, then find
the number of days in which 8 men can do the same

work.

o Watch Video Solution



https://dl.doubtnut.com/l/_FqrYLYwsKqvs
https://dl.doubtnut.com/l/_LIAEM0BN4wui
https://dl.doubtnut.com/l/_6ZMuxs2CSrsX

18. If in a family consumption of rice is 60 kg for 24

days, then find the consumption of rice in 18 days.

° Watch Video Solution

19. If (3a+5b):(3a —5b)::(3c+ 5d):(3c — 5d),

then show that a,b,c and d are in proportion.

° Watch Video Solution

2a + 3b + 4¢ + 5d B 2a — 3b + 4¢c — 5d
2 — 3b—4c —5d  2a — 3b— 4c + 5d°

then show that a,3b,2c and 5d are in proportion.

20. if



https://dl.doubtnut.com/l/_6ZMuxs2CSrsX
https://dl.doubtnut.com/l/_Toc3O8FX7EbT
https://dl.doubtnut.com/l/_heFIfasow20f
https://dl.doubtnut.com/l/_AnuYSxvj6Jm7

° Watch Video Solution

21. If a, b, c and d are in proportion, then show that

a® + 3ab? B c® + 3cd?
3a2b + b 3c2d + d3

° Watch Video Solution

22.2 men each working 5 hour per day can finish a job
in 12 days. How long will 4 men each working 2 hours

per day take to finish the same job?

° Watch Video Solution



https://dl.doubtnut.com/l/_AnuYSxvj6Jm7
https://dl.doubtnut.com/l/_BFvhpe7A6K7n
https://dl.doubtnut.com/l/_KimiQ2kkmgF0

23. Given that a varies directly with the cube of b.

When a is 3,b is also 3. find b when a is 24.

° Watch Video Solution

24. Express 75:87 in its simplest form.

o Watch Video Solution

25. Compare the ratios 3:4 and 17:24

o Watch Video Solution



https://dl.doubtnut.com/l/_0SmZALXepNwy
https://dl.doubtnut.com/l/_Ze42UiMOaM7i
https://dl.doubtnut.com/l/_txgHKDw8jXJS
https://dl.doubtnut.com/l/_F5jrqRiaTFgf

26. Divide Rs 360 in the ratio 4:5

o Watch Video Solution

27.Divide Rs 207 among three friends AB and C in the

1 1 1

t___
ra|0643

o Watch Video Solution

28. If A:B=2:3 and B:C=4:17, then find A:B:C

o Watch Video Solution



https://dl.doubtnut.com/l/_F5jrqRiaTFgf
https://dl.doubtnut.com/l/_KLtrcQdxeIKL
https://dl.doubtnut.com/l/_OtxbDTquvlVu

29. if A=2B and B=3C, then find A:C.

o Watch Video Solution

30. A question paper consist of questions, each
carrying 3 mark, 1 mark and 2 marks ini the ratio 2:2:1.
if the maximum mark in the exam is 100, then find the

number of questions of each type.

° Watch Video Solution

31. Ther atio of marks obtained by Rajesh, rakesh annd

Ramesh in an exam is 2:4:9. find the marks obtained


https://dl.doubtnut.com/l/_8SPltA3gHRz8
https://dl.doubtnut.com/l/_gSs3g48OTZys
https://dl.doubtnut.com/l/_20GGe0NZW5w7

by Rakesh and Ramesh, if Rajesh scored30 marks in

the exam.

° Watch Video Solution

: T B y z
32.if T I T R , then prove that
X+y+z=0.
° Watch Video Solution
33. If % _Y_ %, then prove that each ratio is
1
" (3303 — 11y + 1323 )3
equal to
q 3a3 — 1163 + 13¢3

° Watch Video Solution



https://dl.doubtnut.com/l/_20GGe0NZW5w7
https://dl.doubtnut.com/l/_L0mEu0Z4TTMb
https://dl.doubtnut.com/l/_rrLske85SnNS

34, If z:y:z=3:4:5and z° + y° + 2% = 1728,

then find (x — y + 2).

° View Text Solution

35. the incomes of Rajesh and Mahesh are in the ratio
7:9 and their savings are in the ratio 5:7. what is the
ratio of their expenditures in the same order, if

Mahesh saves two third of his income?

° Watch Video Solution



https://dl.doubtnut.com/l/_rrLske85SnNS
https://dl.doubtnut.com/l/_JSsgxl9WrrEm
https://dl.doubtnut.com/l/_xLdMCSBCndee

2r +y

36.|fiEy — 3:2then find m

° Watch Video Solution

37. Verify whether 1, 5,9 and 45 are in proportion.

° Watch Video Solution

38. Determine the fourth proportional to the numbers

5,6 and 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_0l6Yvux9bO6P
https://dl.doubtnut.com/l/_tb09UbbaCayZ
https://dl.doubtnut.com/l/_SfC0qllUB33h
https://dl.doubtnut.com/l/_aVjb3dr1w5cG

39. Convert the ratio 6 : 24 is simplest form.

° Watch Video Solution

40. If 6 men can do a piece of work in 8 days, then find
the number of days in which 8 men can do the same

work.

° Watch Video Solution

41. If in a family consumption of rice is 60 kg for 24

days, then find the consumption of rice in 18 days.

o Watch Video Solution



https://dl.doubtnut.com/l/_aVjb3dr1w5cG
https://dl.doubtnut.com/l/_NMJOBHriminE
https://dl.doubtnut.com/l/_wGobs4UQhBCl

42. If (3a+ 5b):(3a —5b)::(3c+ 5d): (3c — 5d),

then show that a,b,c and d are in proportion.

o Watch Video Solution

2a + 3b + 4c¢ + 5d B 2a — 3b + 4¢ — 5d
2 — 3b—4c—5d  2a —3b—4c+ 5d°

then show that a,3b,2c and 5d are in proportion.

43. |if

° Watch Video Solution

44.If a, b, c and d are in proportion, then show that
a® + 3ab? ¢ + 3cd?

3a2b + b 3c2d + d3

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_832dM93vm2rA
https://dl.doubtnut.com/l/_Ox3WKvHo8DpU
https://dl.doubtnut.com/l/_nPvMrBryw6WB

45. 2 men each working 5 hour per day can finish a job
in 12 days. How long will 4 men each working 2 hours

per day take to finish the same job?

° Watch Video Solution

46. Given that a varies directly with the cube of b.

When ais 3,b is also 3. find b when a is 24.

° Watch Video Solution

Very Short Answer Type Question


https://dl.doubtnut.com/l/_nPvMrBryw6WB
https://dl.doubtnut.com/l/_ZuqP0MQYbPK8
https://dl.doubtnut.com/l/_aHNhOm7FLHXu

1. Express the ratio 51:525 in the lowest terms.

° Watch Video Solution

2.1f 5M=3N, then M:N is

o Watch Video Solution

4 8
3. Express the ratio = : - in the lowest terms

o Watch Video Solution



https://dl.doubtnut.com/l/_xCTJuQzOwMNy
https://dl.doubtnut.com/l/_HuVLoLrBzcQz
https://dl.doubtnut.com/l/_d4T3y3214fzj

4.1f A=3B=5C, then A:B:C=

° Watch Video Solution

5. if x:5=9:5, then what is the value

of x?

o Watch Video Solution

6. Triplicate ratio of 2:3 is _

o Watch Video Solution

7.1f R:S=3:1 and S:T=1:5, then R:S:T=



https://dl.doubtnut.com/l/_gA7JTDgzVtob
https://dl.doubtnut.com/l/_W4uZstCVdvHj
https://dl.doubtnut.com/l/_tiIdPTnscGz3
https://dl.doubtnut.com/l/_gwbTPO4ZOsdG

° Watch Video Solution

8. Between the two ratios 3:5 and 4:7 which is

greater?

o Watch Video Solution

9. If a:b: :b:c then a,b,c are in

o Watch Video Solution

10. The mean proportional to 4 and 9 is 6. is it true or

false?


https://dl.doubtnut.com/l/_gwbTPO4ZOsdG
https://dl.doubtnut.com/l/_MKkmtawf9rGk
https://dl.doubtnut.com/l/_w3QvX2bB8QLW
https://dl.doubtnut.com/l/_3pB7csFn7IGF

° Watch Video Solution

11. The numbers 3,6,8,12 are in proportion. Is it true or

false?

o Watch Video Solution

e 1 5a + 3¢ + Te
— = —, then =
f 3 5b + 3d + 7f

° Watch Video Solution

Z

13. Find x iff 2,7,5 ( :

) are in proportion.


https://dl.doubtnut.com/l/_3pB7csFn7IGF
https://dl.doubtnut.com/l/_9eyVr5B4yK78
https://dl.doubtnut.com/l/_HYI5JP2HgAbb
https://dl.doubtnut.com/l/_fKojD7yoo19T

° Watch Video Solution

14. Find the mean proportional of 16 and 4.

o Watch Video Solution

15. If 7:15=56:X, then what is the value of x?

° Watch Video Solution

16. find the fourth proportional to 4,5 and 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_fKojD7yoo19T
https://dl.doubtnut.com/l/_VBoNnHBdXONq
https://dl.doubtnut.com/l/_JwDMb2ZRJOBn
https://dl.doubtnut.com/l/_oRxnh8WHvPgp

17. If the cost of 15 books is Rs90, then what is the cost

of one book?

° Watch Video Solution

18. When x=2,7,11,. . .,y=8,28,44,.. ,then x and y are in__

o Watch Video Solution

19. When x and y are in indirect proportion and if y

doubles then x becomes

° Watch Video Solution



https://dl.doubtnut.com/l/_6Sr3eWnsICPU
https://dl.doubtnut.com/l/_EG9xxMIJS997
https://dl.doubtnut.com/l/_fMjBslLXVPlw

20. Eight men can do a certain amount of work in 3
days. Sixteen men can do the same amount of work in

6 days. It is true or false.?

° Watch Video Solution

21. The ratio obrtained when 9:11 is written with its

consequent equal to 99 is

° Watch Video Solution

22. A and B share some merbles in the ratio 4:5. if B

gets 10 marbles more tha A, then what is A's share?


https://dl.doubtnut.com/l/_IN3Ak6GThdcH
https://dl.doubtnut.com/l/_0vQnRMNghEGU
https://dl.doubtnut.com/l/_I3LvEIbuatgs

° Watch Video Solution

23. In the above problem, find the total number off

merbles.

o Watch Video Solution

24. If A:B=3:4 and B:C=12:13 find A:C.

° Watch Video Solution

25.1f x,20,30 and 60 are in proportion then what is the

value of x?


https://dl.doubtnut.com/l/_I3LvEIbuatgs
https://dl.doubtnut.com/l/_BZcl5v2PIIKE
https://dl.doubtnut.com/l/_0uwEtHDT7XqM
https://dl.doubtnut.com/l/_jLOOA0AnfjSo

° Watch Video Solution

26. The sub-duplicate ratio of 64:81 s

° Watch Video Solution

27.if x:y=5:7 then find (3z + 4y): (x + 2y) .

o Watch Video Solution

28.If 40 men complete a piece of work in 5 days, then

80 man can complete the same piece of work in

| ° Wiakrh \iAdAA CAaliikian



https://dl.doubtnut.com/l/_jLOOA0AnfjSo
https://dl.doubtnut.com/l/_Zktmug2yMRgG
https://dl.doubtnut.com/l/_sIxn5fIMueNi
https://dl.doubtnut.com/l/_tulO79aSZjfh
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29. The area of a circle (A) varies directly as the square
of its radius. The area of the circle of radius 7 cm is
154 ¢m?. What is the area of the circle of radius 35

cm?

° Watch Video Solution

30. 120 men can lay a road 80 km long in 20 days. In
how many days can 100 men lay a road of length 90

km?

° Watch Video Solution



https://dl.doubtnut.com/l/_tulO79aSZjfh
https://dl.doubtnut.com/l/_6IadVNZQnOWY
https://dl.doubtnut.com/l/_Y8a2Uaj6a2u5

Short Answer Type Question

1. A certain sum of money is divided between X and Y
: : 1 3 .
in the ratio of 25 : 1Z and X gets Rs 440. what is Y's

share?

° Watch Video Solution

5
2. Find the number which bears the same ratio to —

9
3d ; 4
as o does to .

o Watch Video Solution



https://dl.doubtnut.com/l/_5rPfwjZj2E5S
https://dl.doubtnut.com/l/_blYpp48KiSWx

3. Arrange the ratios 3:4,5:6,1:2 and 19:15 in

their increasing order of magnitude.

° Watch Video Solution

4. What number must be added to each term of the

ratio 7:5 so that it becomes 4:3?

° Watch Video Solution

2 3
5. A and B share money in the ratio 1§ : 2Z. What is

the total money shared if A got Rs 7207

° Watch Video Solution



https://dl.doubtnut.com/l/_CUiTec7GvuEU
https://dl.doubtnut.com/l/_6jsGM0JJhNdu
https://dl.doubtnut.com/l/_X90fhiF5OEWv

6.1f (5x + Ty): (3 + 11y) = 2: 3, then find x:y.

o Watch Video Solution

7.ifx:y = 2:5then (10z + 3y): (bx + 2y) is

o Watch Video Solution

8. The mean proportional between 2 and 32 is.

° Watch Video Solution



https://dl.doubtnut.com/l/_X90fhiF5OEWv
https://dl.doubtnut.com/l/_bi2sNIAfmvIb
https://dl.doubtnut.com/l/_vv2da7zq9qhZ
https://dl.doubtnut.com/l/_DzyOs44ThoUB
https://dl.doubtnut.com/l/_rB25HcthnAVq

9. If a_c_°c_ —, then what is the value of
b d f 4

3a—4c—e?

3b—4d —

° Watch Video Solution

10. X and Y share marbles in the ratio of 5:6. Find X's

share, if X got 20 marbles less than that of V.

o Watch Video Solution

b
1. If bc:ac:ab=1:3:5, then find i: —.
bc ca

° Watch Video Solution



https://dl.doubtnut.com/l/_rB25HcthnAVq
https://dl.doubtnut.com/l/_xwUaYF5auGX7
https://dl.doubtnut.com/l/_7Fn1qBITjB5p
https://dl.doubtnut.com/l/_npVnPtZvN63e

12.1f a:b:c:d=2:3:5:7 and a+b=60, then c+d is__

° Watch Video Solution

13. The monthly expenditure of a family o 9 members
is Rs 891. What will be the montly expenditure of the

family, if there are 12 members?

° Watch Video Solution

14. Write the result after applying componendo and
dividendo to

3a® + 2b%:3a% — 20%: :3c% + 2d%: 3% — 2d°.

| = |


https://dl.doubtnut.com/l/_npVnPtZvN63e
https://dl.doubtnut.com/l/_MwuXd10REqaX
https://dl.doubtnut.com/l/_avtTKA4OfM0r

l & Watch Video Solution J

15. The volume of a sphere (V) varies directly as the
cube of its radius. The volume of the
sphere of radius 3 cm is 36wem®. What is the volume

of a sphere of radius 15 cm?

° Watch Video Solution

Essay Type Question

1. The ratio of the number of students in schools X

and Y is 4:7. if 15 students from Y join X, then the ratio


https://dl.doubtnut.com/l/_avtTKA4OfM0r
https://dl.doubtnut.com/l/_ejpBVEwdb5MW
https://dl.doubtnut.com/l/_roJXVCpECncK

becomes 1:1. What is the total number of students in

the schools X and Y?

° Watch Video Solution

2. A purse contains one-rupee, 50 paise ad 25 paise
coins in the ratio 4:3:6. fi the total amount in the
purse is Rs 28, then find the number of 50 paise coins

present in the purse.

° Watch Video Solution

L Y

. If — = =
2a — 3b 3b — 4c 4e — 2a

, then find the

value of z° + ¢°* + 23,


https://dl.doubtnut.com/l/_roJXVCpECncK
https://dl.doubtnut.com/l/_TCXEoCFi96Yb
https://dl.doubtnut.com/l/_RAQIJ9ILpBEm

° Watch Video Solution

4. The force of attraction (A) between two objects,
whose masses are fixed, varies inversely with the
square of their distance of separation 9d). The force
of attraction between them is 2 units when the
distance is 5 cm. what is the distance between the two

objects, if the attraction between them is 8 units?

° Watch Video Solution

5. The volume (V) of a mass of gas varies directly as its

absulute temperature (T) and iversely as the pressure


https://dl.doubtnut.com/l/_RAQIJ9ILpBEm
https://dl.doubtnut.com/l/_xf3ye3j2H4NU
https://dl.doubtnut.com/l/_sCQETsGLt6be

(P) applied to it. The gas occupies a volume of 400 ml
when the temperature is 150 k and pressure is 240 Pa.
what is the temperature of gas whose volume and

pressure are 250 ml and 320 Pa respectively?

° Watch Video Solution

1. C and D share a certain sum of mone in the ratio

1 3
2—:1—, if D's share is Rs. 210, then find the total sm

4 4

of money shared.

A.Rs 540


https://dl.doubtnut.com/l/_sCQETsGLt6be
https://dl.doubtnut.com/l/_5aocpushH9Hx

B. Rs 490

C.Rs 480

D.Rs 420

Answer: C

° Watch Video Solution

2. in an ofice, the ratio of the salary of an officer to
that of a clerk is 25:9. if the salary of the clerk is Rs
10000 less than that of the officer, then what is the

salary o the officer?

A. Rs 15600


https://dl.doubtnut.com/l/_5aocpushH9Hx
https://dl.doubtnut.com/l/_sO6VhNqmQG23

B. Rs 15625

C.Rs 15650

D. Rs 15675

Answer: B

° Watch Video Solution

3. In the previous problem, what is the salary of the

clerk?

A.Rs 5600

B. Rs 5625


https://dl.doubtnut.com/l/_sO6VhNqmQG23
https://dl.doubtnut.com/l/_UjtezkoHnkxy

C.Rs 5650

D. Rs 5675

Answer: B

° Watch Video Solution

4. In a class, there are 225 students. Which of the

following cannot be the ratio of the number of

sutdents passed to the number of students failed?

A 2:3

B.7:8

C.5:4


https://dl.doubtnut.com/l/_UjtezkoHnkxy
https://dl.doubtnut.com/l/_ozeDAJYJmjre

D.3:4

Answer: D

° Watch Video Solution

5. A sum off Rs 4680 was divided among Parthu, Kunti

and Arjun in the ratio of find the sahre of

2°3°%4
Parthu. (in Rs)

A. 1440

B. 1080

C. 2160

D. none of these


https://dl.doubtnut.com/l/_ozeDAJYJmjre
https://dl.doubtnut.com/l/_LUJS5a14V0UG

Answer: C

° Watch Video Solution

2
6.1f 9: 12§ = 81: (z + 2) ,then what is the value of

X?

A. 112
B. 102
C.108

D.120

Answer: A

[ ° WAL _ L vl e~ 0.t ]



https://dl.doubtnut.com/l/_LUJS5a14V0UG
https://dl.doubtnut.com/l/_NIBrIRXPJBQq

L T vvdadlilil viUCO o0IuULivIll )

7.Rs 117 was supposed to be divided among P, Q and R

in the ratio 3:4:6. But, by mistake, it was divided in the

1 1 1
ratio 3°71°% How many of P,Q and R gained due to

this mistake?

A.O

B.1

C.3

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NIBrIRXPJBQq
https://dl.doubtnut.com/l/_eDMHeUwRnmyJ

8. In a bag, the number of Rs 10 notes, Rs 20 notes

and Rs 50 notes are in the ratio 5:4:3. the total value

of the notes in it is Rs 280. find the number of Rs. 10

notes in it.

A 4

B.5

C.3

D. 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eDMHeUwRnmyJ
https://dl.doubtnut.com/l/_Y4n1U7PazFU3

9. If x:y=3:7, then find (7x+3y):(9x-3y)

AT:1

B.1:7

C.7:3

D.3:7

Answer: A

° Watch Video Solution

@ %,ﬁnd the value ofg

10. if
b—a


https://dl.doubtnut.com/l/_pFGInbDYQpeq
https://dl.doubtnut.com/l/_ySmjQmKcN80x

Answer: C

° Watch Video Solution

11. Present ages of A and B are in the ratio 7:4, which
of the following can be the difference between their

ages after 8 years?

A. 5 years


https://dl.doubtnut.com/l/_ySmjQmKcN80x
https://dl.doubtnut.com/l/_ECM79inNHB2s

B. 10 years

C. 15 years

D. All of these

Answer: C

° Watch Video Solution

12. Which of the following will result in 10,20,x and 40

being in proportion?

A. Add one to 10

B. Add one to 20


https://dl.doubtnut.com/l/_ECM79inNHB2s
https://dl.doubtnut.com/l/_NmquPOsJmEuF

C.Add one to 19

D. Add one to 40

Answer: C

° Watch Video Solution

: Tty y+z T+ z
13. if = — = D
T+y+=z xT+y+z xT+yt+z

then which of the following can be the value of p?

N
2


https://dl.doubtnut.com/l/_NmquPOsJmEuF
https://dl.doubtnut.com/l/_6RcbKEYfIC9k

D.3

Answer: C

o Watch Video Solution

14. if

B a—2b B b—c B c—d

- at+bte+d a+btet+d a+bt+ct+d
= d—a ,then find z3.

at+b+c+d

A1

B.8

C.0

D. 27


https://dl.doubtnut.com/l/_6RcbKEYfIC9k
https://dl.doubtnut.com/l/_yF8wrfmgytrQ

Answer: C

° Watch Video Solution

15. if the ratio of the ages (in years) of A and B, 5 years
ago was 5:7, then which of the following can be the

sum of their ages 5 years from now?

A.90
B. 98
C.92

D. 87

Answer: C


https://dl.doubtnut.com/l/_yF8wrfmgytrQ
https://dl.doubtnut.com/l/_AzqLmHFeOFlO

° Watch Video Solution

16. One day, the ratio of the number of first class and
second class passengers who travelled were in the
ratio 1:30. the ratio of the first and second class fares
is 3:1. the total amount collected from the
passerngers that day was Rs 66000. find the amount

collected from the first class passengers (in Rs)

A.3000

B. 6000

C. 9000

D. 12000


https://dl.doubtnut.com/l/_AzqLmHFeOFlO
https://dl.doubtnut.com/l/_W48zJgD4upan

Answer: B

° Watch Video Solution

17. In a bag, the number of Re. 1 coins, 50 paise coins
and 25 paise coins are in the ratio 3:2:4. The total
value of the coins in it is Rs. 50. find the number of 50
paise coins in it.

A.10

B. 20

C.30

D. 40


https://dl.doubtnut.com/l/_W48zJgD4upan
https://dl.doubtnut.com/l/_USkzyGFtrnDr

Answer: B

° Watch Video Solution

18. Incomes of A and B are Rs 3500 and Rs 4200

respectively. The ratio of the savings of A and B is 4:3

and the ratio of their expenditures is 3:4. find the

savings of A.

A.Rs 800

B.Rs 600

C.Rs 900

D. Rs 1000


https://dl.doubtnut.com/l/_USkzyGFtrnDr
https://dl.doubtnut.com/l/_oHlBTcpR5so0

Answer: A

° Watch Video Solution

19.if the ratio of the ages (in years) of x and y, 8 years
ago is 7:6, then which of the following can be the sum
of their ages 8 years from now?

A. 82

B.97

C.75

D. 94

Answer: B


https://dl.doubtnut.com/l/_oHlBTcpR5so0
https://dl.doubtnut.com/l/_Aa04iqDuveUp

° Watch Video Solution

20. If P:Q:R=2:3:4 and P? + Q* + R* = 11600,
then find (P + Q — R)

A.15

B. 16

C.18

D. 20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Aa04iqDuveUp
https://dl.doubtnut.com/l/_6B25RHBjmqXr
https://dl.doubtnut.com/l/_NGWBuxhc5dVC

x 7 3z 7 , ,
21. If 50 5 g and 3 are in proportion, then the

value of x is

A.3
B.6
C.9

D.10

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NGWBuxhc5dVC

22. If (3a + 4b):(3a — 4b) = (3c + 8d): (3c — 8d),
then which of the following is true?

A. ad=bc

B. 2ad=bc

C. 2ab=cd

D. ab=cd

Answer: B

° Watch Video Solution

¢ 2 T2 t2
23.If£:Z:—thenp+ + —
g s u q® + 82 +u?



https://dl.doubtnut.com/l/_yDnwqfRm3WSK
https://dl.doubtnut.com/l/_YlB7EC0dMZmD

Answer: D

° Watch Video Solution

24. Which of the following ratios are in ascending

order?

A.5:6,11:13,8:9,7:8


https://dl.doubtnut.com/l/_YlB7EC0dMZmD
https://dl.doubtnut.com/l/_qemDZXulHvmA

B.5:6,7:8,11:13,8:9

C.11:13,5:6,7:8,8:9

D.5:6,11:13,7:8,8:9

Answer: D

° Watch Video Solution

25. Given that x varies directly with the square of y.
when x is 2,y is also 2. find y when x is 8. given that it is
positive.

A.8

B.6


https://dl.doubtnut.com/l/_qemDZXulHvmA
https://dl.doubtnut.com/l/_52lvtuzjVMNW

C.4

D. 2

Answer: C

° Watch Video Solution

26. Twenty men can lay a road off 50 km long in 10
days. In how many days can 15 men lay a road of 75 km
long?

A. 10 days

B. 20 days

C.30 days


https://dl.doubtnut.com/l/_52lvtuzjVMNW
https://dl.doubtnut.com/l/_NwZonXJtYQzv

D. 40 days

Answer: B

° Watch Video Solution

27. Fifteen men take 30 days to complete a piece of
work, working 8 hours a day. Find the time taken by 30
men to complete 5 times as much work, working 10
hours a day.

A. 30 days

B. 45 days

C. 60 days


https://dl.doubtnut.com/l/_NwZonXJtYQzv
https://dl.doubtnut.com/l/_rOhyDK4FcS6r

D. 15 days

Answer: C

° Watch Video Solution

28. The flow of current through a resistor varies
directly with the voltage (V) across it. When voltage
across the resistor is 30 volts, the flow of current
through it is 5A. What is the flow of current when the

voltage across it is 60 volts?

A. 10A

B. 2.5A


https://dl.doubtnut.com/l/_rOhyDK4FcS6r
https://dl.doubtnut.com/l/_YZBM6Xg1FZUs

C.5A

D. 20A

Answer: A

° Watch Video Solution

29. For 20 Student, the mess bill for 12 days is Rs 7000.

In how many days will the mess charges to Rs 4900

for 8 students?

A. 20 days

B. 21 days

C. 22 days


https://dl.doubtnut.com/l/_YZBM6Xg1FZUs
https://dl.doubtnut.com/l/_oL7EYNerIGsQ

D. 23 days

Answer: B

° Watch Video Solution

30. Frequency of vibration of a wire varies inversely
with its length. The frequency is 220 Hz when the
length of the wire is 120m. Find the frequency of the
wire when its length is 100 m.

A. 261

B. 262

C. 280


https://dl.doubtnut.com/l/_oL7EYNerIGsQ
https://dl.doubtnut.com/l/_oKkj9oWLCX2D

D. 264

Answer: D

° Watch Video Solution

31.if (2x+1):(5x-1) is the triplicate ratio of 3:4, then find
the value of x.

the following are the steps involved in solving the
above problem. Arrange them in sequential order.

(A) (2 +1): (5z — 1) = 3: 43

(B) 135x — 27 = 128z + 64

(C) 27(5x — 1) = 64(2z + 1)

91
(D)7x:91:>:1:—|—7:13


https://dl.doubtnut.com/l/_oKkj9oWLCX2D
https://dl.doubtnut.com/l/_SjfcrY1K0MDs

A. ACBD

B. ABCD

C.BCAD

D. CABD

Answer: A

° Watch Video Solution

32. If A:B=3:2, B:C=4:3 and C:D=3:5, then divide Rs 360
among AB,C and D. the following are the steps
involved in solving the above problem. Arrange them

in sequential order.


https://dl.doubtnut.com/l/_SjfcrY1K0MDs
https://dl.doubtnut.com/l/_cajkWmYbgAce

§
(A) A's share = 13 x 360 = Rs120

B) = A:B:C:D =6:4:3:5
(Q)
A:B=3:2=6:3,B:C=4:3 and C:D = 3:5
(D) to divide Rs 360 among AB,C and D, we should
know the value of A:B:C:D.

A. BCDA

B. DCBA

C. DABC

D. CDBA

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cajkWmYbgAce

r+vy
£ —Yy

33. If x:15=y:6, then find the value of

The following problem. Arrange them is sequential

order.
(A) Applying componendo-dividendo.

(B) Product of means=Product of extremes. ItBrgt (C)
r+y 7
r—y

(D) = =
)

3
5
2
(E) 6z = 15y

A. BDACE
B. BEDAC
C. BADEC

D. ABECD


https://dl.doubtnut.com/l/_cajkWmYbgAce
https://dl.doubtnut.com/l/_gxgEieBhe5Kl

Answer: B

° Watch Video Solution

34. if two numbers are in the ratio 520" then by

what percentage is the second number less that the
first? The following are the steps involved in solving
the above problem. Arrange them in sequential order
(A) Difference between the two numbers is 4x-3x=x
ItBrgt (B) Given that the ratio of two numbers

L2 =20:15=4:3
~ 1520

Let the numbers of 4x and 3x.

(C) The percentage by which the second number is

less than the first number = % x 100% = 25%


https://dl.doubtnut.com/l/_gxgEieBhe5Kl
https://dl.doubtnut.com/l/_Sd92P4dDPKjv

(D) i.e., the second number is x less than the first

number.

A. BADC

B. BDAC

C. DBAC

D. ABDC

Answer: A

° Watch Video Solution

35. If the compound ratio of 9:x and (x+1):15 is 4:5,

then find the ratio of x and (x+9). The followig are the


https://dl.doubtnut.com/l/_Sd92P4dDPKjv
https://dl.doubtnut.com/l/_zp3HdNXNelo3

steps involved in slving the above problem. Arrange
them in sequential order. ItBrgt (A)
(92 + 9)5 = 4(15z)
B)9(z +1):15z = 4:5
Qz:(x+9) =1:4
(D) 16z =45 = = =3

A. BDAC

B. ABCD

C. DABC

D. BADC

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zp3HdNXNelo3

1. if the ratio of the ages (in years) of x and y, 6 years

ago was 9:8 then which of the following can be the
sum of their ages 6 years from now?

A. 89 years

B. 85 years

C. 91 years

D. 92 years

Answer: D

[ o Wiakl. \tdaa ALkt a ]



https://dl.doubtnut.com/l/_zp3HdNXNelo3
https://dl.doubtnut.com/l/_twUtTJz6bHQy

YValilll VIUCU JUVUIULIVII )

2. Which of the followin ratios are in descending

order?

A.9:13,7:9,8:11,11:14

B.11:14,8:11,7:9,9:13

C.11:14,7:9,8:11,9:13

D.9:13,8:11,7:9, 11: 14

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_twUtTJz6bHQy
https://dl.doubtnut.com/l/_qaFA3vlfrsS7

3. The monthly earnings ad expenditures of A and B

are in the ratio 5:7 and 2:1 respectively. Find As

earning per month if the monthly savings of B is twice

that of A. Also given that A saves Rs 570 every month.

A. Rs 900

B. Rs 950

C.Rs 1000

D. Rs 1050

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4IFZguSL1iN
https://dl.doubtnut.com/l/_60JiVerj7T1V

4. Runs scored by Ramu an Raju are in the ratio 4:5.

Runs scored by Raju and Ramesh are in the ratio 3:2.

How many runs did Raju score, if Ramesh scored 120

runs less than that of Ramu?

A. 800

B. 850

C.900

D. 950

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_60JiVerj7T1V

5. A mixture contains milk and water in the atio of 5:6.

on adding 8 litres of water, the ratio of milk and water

becomes 1:2. find the quantity of the milk in the

mixture. (in litres)

A 12

B.10

C.14

D.8

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NiD64TaSMg0y
https://dl.doubtnut.com/l/_GaD8bBqVnRFR

6. The present ages of Aruna and Karuna are in the
ratio 6:5. if the difference between their ages is 5
years, then what will be the sum of their ages after 20
years? (in years)

A.75

B. 60

C.95

D. 100

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GaD8bBqVnRFR

P
7. If r __Qy _ _Rz

(b—c¢) (c —a) (a —b)
Pax 4+ Qby + Rcz.

AP+Q+R

B.x +y+ 2z

Ca+b+ec

D.0

Answer: D

then

find

o Watch Video Solution



https://dl.doubtnut.com/l/_3aXjN4en0uag

8. If z+y+z2=0 and

3 3 3 3 3 3
o + + z T A
Y = J = L = a, then which of
xYz TYz xYz

the following can be 'a”?

A.2

B.3

C.6

D.9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HywuCg748J9l

of® _ S _ € a’ + ¢+ e
R —:—:—, en = .
b d  f B +d3+f3 T

AT

8 a+c+ e
"b+d+f
c (a+c+e)
C(b+d+ f)?

ace

D. —
bd f

Answer: D

° Watch Video Solution

then find the value of

- a+b’
ptda  ptd
p—4a p—4b )’



https://dl.doubtnut.com/l/_HClHFPrclERQ
https://dl.doubtnut.com/l/_pogX3o1MTC1S

A 4

B.2

C.1

D.3

Answer: B

° Watch Video Solution

11. Twenty two men cann complete a piece of work in
17 days. They work for 2 days. How many more men
should now be employed so as to complete the work

in another 10 days?


https://dl.doubtnut.com/l/_pogX3o1MTC1S
https://dl.doubtnut.com/l/_RITDfR2iakKa

A. 45

B. 60

C.57

D. 80

Answer: A

° Watch Video Solution

12. Twenty two men can complete a piece of work in 17
days. They work for 2 days. How many more men
should now be employed so as to complete the work

in another 10 days?


https://dl.doubtnut.com/l/_RITDfR2iakKa
https://dl.doubtnut.com/l/_MYKDHD1MbbYJ

A 11

B. 22

C.33

D. none of these

Answer: A

° Watch Video Solution

13. Twenty five men can make a certain number of
chairs in 80 working hours. They work for 10 hours.
How many more men should now be employed so as

to complete the work in another 50 working hours?


https://dl.doubtnut.com/l/_MYKDHD1MbbYJ
https://dl.doubtnut.com/l/_moCt1lH5mJ46

A.35

B. 25

C.20

D. 10

Answer: D

° Watch Video Solution

14. The ratio between two numbers is 3:5 and their

sum is 40. Find the larger of the two numbers.

A. 15


https://dl.doubtnut.com/l/_moCt1lH5mJ46
https://dl.doubtnut.com/l/_dTcfeaNj83Hc

B. 20

C.25

D. 40

Answer: C

° Watch Video Solution

15.In a bag, the number of Rs 10 notes, Rs 20 notes
and Rs 50 notes are in the ratio 5:4:3. the total value
of the notes in it is Rs 280. find the number of Rs. 10

notes in it.

A 4


https://dl.doubtnut.com/l/_dTcfeaNj83Hc
https://dl.doubtnut.com/l/_1KlLnwXhU2vZ

B.5

C.3

D. 2

Answer: B

° Watch Video Solution

16. Which of the followin ratios are in descending

order?

A.12:17,9:13,7:11, 13: 19

B.12:17,7:11,13:19,9:13


https://dl.doubtnut.com/l/_1KlLnwXhU2vZ
https://dl.doubtnut.com/l/_R5LFNoDzeFmS

C.12:17,9:13,13:19, 7: 11

D.12:17,13:19,9: 13, 7: 11

Answer: C

° Watch Video Solution

17. Raja divided 35 sweets among his daughters Rani

and Sita in the ratio 4:3. How many sweets did Rani

get?

A.16

B. 24

C.28


https://dl.doubtnut.com/l/_R5LFNoDzeFmS
https://dl.doubtnut.com/l/_e9vR1O8NLxfw

D. 20

Answer: D

° Watch Video Solution

18.1n a bag, the numbers of Re 1 coins, 50 paise coins
and 25 paise coins are in the ratio 3:2:4. the total
value of the coins in it is Rs 50. Find the number of 50
paise coins in it.

A. 10

B. 20

C.30


https://dl.doubtnut.com/l/_e9vR1O8NLxfw
https://dl.doubtnut.com/l/_FlPDmxQOdpRh

D. 40

Answer: B

o Watch Video Solution

19.if P:Q: R = 2:3:4 and P? + Q* + R? = 11600,
then find P+Q-R, where P,Q and R are whole numbers.
A.15
B.16
C.18

D. 20


https://dl.doubtnut.com/l/_FlPDmxQOdpRh
https://dl.doubtnut.com/l/_lvRlSjKzHmyY

Answer: D

o Watch Video Solution

1. The age of a boy is one-fifth of the age of his mother
and the sum of the ages of the son and the mother is
equal to the age of the father. After 15 years, the sum
of the ages of the son and his mother will be four-
third of his father's age. Find the ratio o the present

ages of son, mother and father respectively.

Al:5:7


https://dl.doubtnut.com/l/_lvRlSjKzHmyY
https://dl.doubtnut.com/l/_dke7owtUquET

B.2:10:10

C.1:5:6

D.2:8:9

Answer: C

° Watch Video Solution

2.In a school, maximum strength of each class is 60. In
class VIII, the total number of students is a multiple of
5. On a certain day, four boys were absent and the
ratio of the numbers of the remaining boys to that of
girls was 5:4. Find the ratio of the total boys to that of

girls.


https://dl.doubtnut.com/l/_dke7owtUquET
https://dl.doubtnut.com/l/_On2AxAhbJJ7h

A 3:2

B.4:3

C.2:1

D. Data is insufficient

Answer: A

° Watch Video Solution

3. If == , then find the value of

A.2


https://dl.doubtnut.com/l/_On2AxAhbJJ7h
https://dl.doubtnut.com/l/_DQML7tV0bVPC

B.12 + 8/2
C.12 — 82

D.—2

Answer: B

° Watch Video Solution

4. A diamond worth Rs 640000 breaks into two pices
whose weights are in the ratio 5:3. if the value of the
diamond varies directly with square of its weight, then

find loss incurred due to breakage (in Rs).

A. 320000


https://dl.doubtnut.com/l/_DQML7tV0bVPC
https://dl.doubtnut.com/l/_qRCpkCt1z7Ww

B. 300000

C. 360000

D. none of these

Answer: B

° Watch Video Solution

5.1n a vessel, the pressure of a gas varies directly with
its temperature, if its volume is kept constant, when
the pressure is increased from 1 atm to 3 atm, then
the temperature increases from 273 K to 'x' K. What is

the value of x, if volume ix kept constant?


https://dl.doubtnut.com/l/_qRCpkCt1z7Ww
https://dl.doubtnut.com/l/_ODvej6ckx1D9

A. 91K

B.546 K

C.819K

D.900 K

Answer: C

° Watch Video Solution

6.In a school there are 650 students. The ratio of the
boys to that fo the girls is 8:5. How many more girls

should join the school so that the ratio becomes 4:3?

A. 25


https://dl.doubtnut.com/l/_ODvej6ckx1D9
https://dl.doubtnut.com/l/_88XHISO0VYMr

B. 50

C.100

D. 200

Answer: B

o Watch Video Solution

Test Your Concepts

1. Express the ratio 3.25: 9.25 in the lowest terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_88XHISO0VYMr
https://dl.doubtnut.com/l/_TWcUVEiNYj2V
https://dl.doubtnut.com/l/_xtwfqU9W3wcs

2.1f 5M =3N,then M: N is

o Watch Video Solution

6
3. Express the fraction as ratio z

o Watch Video Solution

4.1f A=3B=5C, then A:B:C=

° Watch Video Solution

5.1f 6: 24 =6: x, then what is the value of x?


https://dl.doubtnut.com/l/_xtwfqU9W3wcs
https://dl.doubtnut.com/l/_1gFp9x31fVxv
https://dl.doubtnut.com/l/_eWMcBL9zkQJC
https://dl.doubtnut.com/l/_nciKda0Pdz3B

o Watch Video Solution

6. Triplicate ratio of 2:3 is

° Watch Video Solution

7.1f R: S=3:1and S:T =1:5, then R:S:T =

o Watch Video Solution

8. which of the two ratios 4: 8 and 3: 10 is greater ?

| ° Watch Video Solution


https://dl.doubtnut.com/l/_nciKda0Pdz3B
https://dl.doubtnut.com/l/_4iDr3gjnREPV
https://dl.doubtnut.com/l/_Z85VdcVxh1aU
https://dl.doubtnut.com/l/_rQHdm7agCumI

9.1fa:b::b:c then express b in terms of a and c.

o Watch Video Solution

10. The mean proportional to 4 and 9 is 6. is it true or

false?

o Watch Video Solution

11. The numbers 3, 6, 8, 12 are in proportion. Is it true r

false?

| ﬂ\ll n 1 we 1l -~ 1 n®


https://dl.doubtnut.com/l/_rQHdm7agCumI
https://dl.doubtnut.com/l/_3rjr1Xg2T02b
https://dl.doubtnut.com/l/_klETe9ps8Bwn
https://dl.doubtnut.com/l/_oADvqtTLH0Bi

{ ' vvaldn viaco >01ution
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o Watch Video Solution

13.Find xif 2,7,5 (%) are in proportion.

o Watch Video Solution

14. Find the mean proportional of 16 and 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_oADvqtTLH0Bi
https://dl.doubtnut.com/l/_X8knuKwzQKEo
https://dl.doubtnut.com/l/_emyy8SjS4f2p
https://dl.doubtnut.com/l/_HNuCvv1swi9E

15. If 7:15=56:x, then what is the value of x?

o Watch Video Solution

16. Find the fourth proportional to 72,168, and 150.

o Watch Video Solution

17. If the cost of 15 books is Rs. 90, then what is the

cost of one book?

o Watch Video Solution



https://dl.doubtnut.com/l/_HNuCvv1swi9E
https://dl.doubtnut.com/l/_TrXB5Hgk5fpK
https://dl.doubtnut.com/l/_kiVuLINc1wpv
https://dl.doubtnut.com/l/_nzQt5rbc9eL6
https://dl.doubtnut.com/l/_RCGeC07cyr1M

18.When x=2,7,11, ..,y = 8, 28, 44, .., then x and y are

° Watch Video Solution

19. When x and y are in indirect proportion and if y

doubles, then x becomes

° Watch Video Solution

20. Eight men can do a certain amount o work in 3
days. Sixteen men can do the sae amount of work in 6

days. It is true or false.?



https://dl.doubtnut.com/l/_RCGeC07cyr1M
https://dl.doubtnut.com/l/_82bibONy07UG
https://dl.doubtnut.com/l/_q2uOS0XI2DgA

\ ° Watch Video Solution

21. The ratio obrtained when 9:11 is written with its

consequent equal to 99 is

° Watch Video Solution

22. A and B share some marbles in the ratio 4 : 5. If B

gets 10 marbles more than A, then what is A's share?

° Watch Video Solution



https://dl.doubtnut.com/l/_q2uOS0XI2DgA
https://dl.doubtnut.com/l/_WrllpsqV9tSI
https://dl.doubtnut.com/l/_tLVvOBeS5YSe

23. A and B share some marbles in the ratio 4 : 5. If B
gets 10 marbles more than A, , find the total number

of marbles.

o Watch Video Solution

24.1fA:B=3:4andB:C=12:13,then find A: C.

° Watch Video Solution

25. If x, 20, 30, and 60 are in proportion, then what is

the value of x?

o Watch Video Solution



https://dl.doubtnut.com/l/_R5tphqc181vi
https://dl.doubtnut.com/l/_ZvLkKFhMJYDo
https://dl.doubtnut.com/l/_LAfoDxoESCml

26. The sub-duplicate ratio of 64 : 81 is

o Watch Video Solution

27.1f x: y=5:7,then find (3z + 4y): (z + 2y).

° Watch Video Solution

28. If 40 men complete a piece of work in 5 days, then

80 men can complete the same piece of work in

[ ° Wiakrh \iAdAA Caliikian



https://dl.doubtnut.com/l/_LAfoDxoESCml
https://dl.doubtnut.com/l/_UeRnZtzEXpHr
https://dl.doubtnut.com/l/_4rDEYaVjYqiR
https://dl.doubtnut.com/l/_VrIm0JPvGcBE
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29. The area of a circle (A) varies directly as the square
of its radius. The area of the circle of radius 7 cm is
154 em?. What is the area of the circle of radius 35

cm?

° Watch Video Solution

30. 120 men can lay a road 80 km long in 20 days. In
how many days can 100 men lay a road of length 90

km?

° Watch Video Solution



https://dl.doubtnut.com/l/_VrIm0JPvGcBE
https://dl.doubtnut.com/l/_dxKNQv6LGSR1
https://dl.doubtnut.com/l/_LyxgghlSPMBK

31. A certain sum of money is divided between X and Y

1 3
in the ratio of 2§ : 1Z and X gets Rs 440. what is Y's

share?

° Watch Video Solution

32. Find the number which bears the same ratio to —

9

as 3 does to 5

° Watch Video Solution

33. Arrange the ratios 3:4,5:6,1:2 and 19:15 ini

their increasing order of magnitude.


https://dl.doubtnut.com/l/_w1lCcrlrLRzF
https://dl.doubtnut.com/l/_whCTXT7iH0NZ
https://dl.doubtnut.com/l/_Bek8UoROU0VQ

o Watch Video Solution

34. What number must be added to each term of the

ratio 7 : 5 so that it becomes 4 : 3?7

o Watch Video Solution

2 3
35. A and B share money in the ratio 1§ : ZZ. What is

the total money shared if A got Rs 7207

° Watch Video Solution

36.If (5z + Ty): (3z + 1ly) = 2:3,then find x: .


https://dl.doubtnut.com/l/_Bek8UoROU0VQ
https://dl.doubtnut.com/l/_0OcrNy1fVezE
https://dl.doubtnut.com/l/_MWjCchmfy1nY
https://dl.doubtnut.com/l/_olFOaIgaxyOz

° Watch Video Solution

37. If z:y=2:5 then (10z + 3y):(bx + 2y) is

o Watch Video Solution

38. The mean proportional between 2 and 32 is

° Watch Video Solution

39. If a_°c_°_ —, then what is the value of
b d f 4
3a —4c — e )



https://dl.doubtnut.com/l/_olFOaIgaxyOz
https://dl.doubtnut.com/l/_S36RuJLz75sT
https://dl.doubtnut.com/l/_2E5pcCxkJNF9
https://dl.doubtnut.com/l/_gxvFSeKlYdMq

° Watch Video Solution

40.X and Y share marbles in the ratio of 5: 6. Find X's

share, if X got 20 marbles less than that of V.

o Watch Video Solution

41.If bc:ac:ab=1:3:5, then find i: i
bc ca

° Watch Video Solution

42.If a:b:c:d=2:3:5:7 and a+b=60, then c+d is__

| ° Wiakrh \iAdAA CAaliikian



https://dl.doubtnut.com/l/_gxvFSeKlYdMq
https://dl.doubtnut.com/l/_ZLi8nKqYyTO3
https://dl.doubtnut.com/l/_GpMO4zHAyMZb
https://dl.doubtnut.com/l/_cet67a1ZwqvD
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43. The monthly expenditure of a family o 9 members
is Rs 891. What will be the montly expenditure of the

family, if there are 12 members?

° Watch Video Solution

44, Write the result after applyin componendo and
dividendo to

3a% + 2b%:3a2 — 2b%: :3¢2 + 2d?:3c% — 2d2.

° Watch Video Solution



https://dl.doubtnut.com/l/_cet67a1ZwqvD
https://dl.doubtnut.com/l/_Ye19JnGmaNC7
https://dl.doubtnut.com/l/_rFq2eGEGZOEk

45. The volume of a sphere (V) varies directly as the
cube of its radius. The volume of the
sphere of radius 3 cm is 36wem?. What is the volume

of a sphere of radius 15 cm?

° Watch Video Solution

46. The ratio of the number of students in schools X
and Y is 4:7. if 15 students from Y join X, then the ratio
becomes 1:1. What is the total number of students in

the schools X and Y?

o Watch Video Solution



https://dl.doubtnut.com/l/_DhZ57mb6T0lj
https://dl.doubtnut.com/l/_cx4KEd6AUUU2
https://dl.doubtnut.com/l/_Z3rmGvvQbQ2f

47. A purse contains one-rupee, 50 paise ad 25 paise
coins in the ratio 4:3:6. fi the total amount in the
purse is Rs 28, then find the number of 50 paise coins

present in the purse.

o Watch Video Solution

Yy =z
20 —3b 3b—4c 4c—2a

value of x(3)+y"(3)+z"(3)".

48. If

, then find the

° Watch Video Solution



https://dl.doubtnut.com/l/_Z3rmGvvQbQ2f
https://dl.doubtnut.com/l/_nCUR8lLlBHNF

49, The force of attraction (A) between two objects,
whose masses are fixed, varies inversely with the
square of their distance of separation 9d). The force
of attraction between them is 2 units when the
distance is 5 cm. what is the distance between the two

objects, if the attraction between them is 8 units?

° Watch Video Solution

50. The volume (V) of a mass of gas varies directly as
its absulute temperature (T) and iversely as the
pressure (P) applied to it. The gas occupies a volume

of 400 ml when the temperature is 150 k and pressure


https://dl.doubtnut.com/l/_aKl1xZcIMUpD
https://dl.doubtnut.com/l/_ei3Li8Tz6yj8

is 240 Pa. what is the temperature of gas whose

volume and pressure are 250 ml and 320 Pa

respectively?

° Watch Video Solution

Concept Application

1. C and D share a certain sum of mone in the ratio

1 3
2—:1—, if D's share is Rs. 210, then find the total sm

4 4

of money shared.

A. Rs. 540

B.Rs. 490


https://dl.doubtnut.com/l/_ei3Li8Tz6yj8
https://dl.doubtnut.com/l/_3pfc45apnCfx

C.Rs. 480

D.Rs. 420

Answer: C

° Watch Video Solution

2. in an ofice, the ratio of the salary of an officer to
that of a clerk is 25:9. if the salary of the clerk is Rs
10000 less than that of the officer, then what is the

salary o the officer?

A.Rs. 15,600

B. Rs. 15,625


https://dl.doubtnut.com/l/_3pfc45apnCfx
https://dl.doubtnut.com/l/_fr5b5WOorgGl

C.Rs. 15,650

D. Rs. 15,675

Answer: B

° Watch Video Solution

3. In the previous problem, what is the salary of the

clerk?

A.Rs. 5600

B. Rs. 5625

C.Rs. 5650


https://dl.doubtnut.com/l/_fr5b5WOorgGl
https://dl.doubtnut.com/l/_cLwxU9xIRghQ

D. Rs. 5675

Answer: B

° Watch Video Solution

4. In a class, there are 225 students. Which of the

following cannot be the ratio of the number of

sutdents passed to the number of students failed?

A 2:3

B.7:8

C.5:4

D.3:4


https://dl.doubtnut.com/l/_cLwxU9xIRghQ
https://dl.doubtnut.com/l/_OJ44ErQLM5Hp

Answer: D

° Watch Video Solution

5. A sum off Rs 4680 was divided among Parthu, Kunti

1

and Arjun in the ratio of 3°3°7 find the sahre of

Parthu. (in Rs)

A. 1440

B. 1080

C. 2160

D. 720

Answer: C


https://dl.doubtnut.com/l/_OJ44ErQLM5Hp
https://dl.doubtnut.com/l/_JZyAgIg8MRkE

° Watch Video Solution

2
6.1f 9: 12§ = 81: (z + 2) ,then what is the value of
x?
A. 112
B. 102
C.108

D. 120

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JZyAgIg8MRkE
https://dl.doubtnut.com/l/_MqcD6zKlFSG2
https://dl.doubtnut.com/l/_skUZSF9K2NPE

7.Rs 117 was supposed to be divided among P, Q and R

in the ratio 3:4:6. But, by mistake, it was divided in the

1 1 1

ratio 3°71°% How many of P,Q and R gained due to

this mistake?
A.O
B.1

C.2

D.3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_skUZSF9K2NPE
https://dl.doubtnut.com/l/_qhEcsHYbDJwQ

8. In a bag, the number of Rs 10 notes, Rs 20 notes

and Rs 50 notes are in the ratio 5:4:3. the total value

of the notes in it is Rs 280. find the number of Rs. 10

notes in it.

A 4

B.5

C.3

D. 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qhEcsHYbDJwQ

9.1f z:y = 3:2then find (4= + 5y): (2z + Ty).

A . 11:10
B.10:7
C.7:13

D.10: 11

Answer: A

° Watch Video Solution

10. If bta = 11,ﬁnd the value ofg.
b—a 5 b



https://dl.doubtnut.com/l/_bPVLgnconiyK
https://dl.doubtnut.com/l/_C9yO3fWIXqC2
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Answer: C

° Watch Video Solution

11. Present ages of A and B are in the ratio 7:4, which
of the following can be the difference between their

ages after 8 years?

A. 5 years


https://dl.doubtnut.com/l/_C9yO3fWIXqC2
https://dl.doubtnut.com/l/_d6Vi8UieJkVU

B. 10 years

C. 15 years

D. 20 years

Answer: C

° Watch Video Solution

12. Which of the following will result in 10,20,19 and 40

being in proportion?

A. Add one to 10.

B. Add one to 20.


https://dl.doubtnut.com/l/_d6Vi8UieJkVU
https://dl.doubtnut.com/l/_2T9xrPegk9WG

C. Add one to 19.

D. Add one to 40.

Answer: C

o Watch Video Solution

: Tty y+z T+ z
13. if = — = D
T+y+z xT+y+z rT+yt+z

then which of the following can be the value of p?

N
2


https://dl.doubtnut.com/l/_2T9xrPegk9WG
https://dl.doubtnut.com/l/_CSol6IhMiVZg

D.3

Answer: C

° Watch Video Solution

14. if

B a—2b B b—c B c—d

- at+bte+d a+btet+d a+bt+ct+d
= d—a ,then find z3.

at+b+c+d

A1l

B.8

C.0

D. 27


https://dl.doubtnut.com/l/_CSol6IhMiVZg
https://dl.doubtnut.com/l/_PMWg0GzoXbnh

Answer: C

° Watch Video Solution

15. if the ratio of the ages (in years) of A and B, 5 years
ago was 5:7, then which of the following can be the
sum of their ages 5 years from now?

A. 90

B. 98

C.92

D. 87

Answer: C


https://dl.doubtnut.com/l/_PMWg0GzoXbnh
https://dl.doubtnut.com/l/_dX5dcGp7p3tg

° Watch Video Solution

16. One day, the ratio of the number of first class and
second class passengers who travelled were in the
ratio 1:30. the ratio of the first and second class fares
is 3:1. the total amount collected from the
passerngers that day was Rs 66000. find the amount

collected from the first class passengers (in Rs)

A. 3000

B. 6000

C. 9000

D. 12000


https://dl.doubtnut.com/l/_dX5dcGp7p3tg
https://dl.doubtnut.com/l/_uo3rPkV0Js9X

Answer: B

° Watch Video Solution

17.1In a bag, the numbers of Re 1 coins, 50 paise coins
and 25 paise coins are in the ratio 3:2:4. the total
value of the coins in it is Rs 50. Find the number of 50
paise coins in it.

A.10

B. 20

C.30

D. 40


https://dl.doubtnut.com/l/_uo3rPkV0Js9X
https://dl.doubtnut.com/l/_gBrnhK1AUcZI

Answer: B

° Watch Video Solution

18. Incomes of A and B are Rs 3500 and Rs 4200

respectively. The ratio of the savings of A and B is 4:3

and the ratio of their expenditures is 3:4. find the

savings of A.

A.Rs. 800

B. Rs. 600

C.Rs. 900

D. Rs. 1000


https://dl.doubtnut.com/l/_gBrnhK1AUcZI
https://dl.doubtnut.com/l/_AbbNjInszv90

Answer: A

o Watch Video Solution

19.if the ratio of the ages (in years) of x and y, 8 years
ago is 7:6, then which of the following can be the sum
of their ages 8 years from now?

A. 82

B.97

C.75

D. 94

Answer: B


https://dl.doubtnut.com/l/_AbbNjInszv90
https://dl.doubtnut.com/l/_9NxCo4ZUEVpH

° Watch Video Solution

20. If P:Q:R=2:3:4 and P? + Q* + R* = 11600,
then find (P + Q — R)

A. 15

B. 16

C.18

D. 20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9NxCo4ZUEVpH
https://dl.doubtnut.com/l/_vEBVsAkIANji
https://dl.doubtnut.com/l/_zeMcNeUA7JIs

x 7 3z 7 , ,
21. If 50 5 Ty and 3 are in proportion, then the

value of x is

A.3
B.6
C.9

D.10

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zeMcNeUA7JIs

22. If (3a + 4b):(3a — 4b) = (3c + 8d): (3c — 8d),
then which of the following is true?

A.ad =bc

B. 2ad = bc

C.2ab =cd

D.ab =cd

Answer: B

° Watch Video Solution

¢ 2 ,,,,2 t2
23.If£:Z:—thenp+ LI
qg s u q* + 8% + u?



https://dl.doubtnut.com/l/_k4D3bhouYsjH
https://dl.doubtnut.com/l/_EfxLa2bS7mdE

Answer: D

° Watch Video Solution

24. Which of the following ratios are in ascending

order?

A.5:6,11:13,8:9,7:8


https://dl.doubtnut.com/l/_EfxLa2bS7mdE
https://dl.doubtnut.com/l/_E5YjvdFAAyXh

B.5:6,7:8,11:13,8:9

C.11:13,5:6,7:8,8:9

D.5:6,11:13,7:8,8:9

Answer: D

° Watch Video Solution

25. Given that x varies directly with the square of y.
when x is 2,y is also 2. find y when x is 8. given that it is
positive.

A.8

B.6


https://dl.doubtnut.com/l/_E5YjvdFAAyXh
https://dl.doubtnut.com/l/_1hgApFG3d1m9

C.4

D. 2

Answer: C

° Watch Video Solution

26. Twenty men can lay a road off 50 km long in 10
days. In how many days can 15 men lay a road of 75 km
long?

A. 10 days

B. 20 days

C.30 days


https://dl.doubtnut.com/l/_1hgApFG3d1m9
https://dl.doubtnut.com/l/_uNWI24NxmUmO

D. 40 days

Answer: B

° Watch Video Solution

27. Fifteen men take 30 days to complete a piece of
work, working 8 hours a day. Find the time taken by 30
men to complete 5 times as much work, working 10
hours a day.

A. 30 days

B. 45 days

C. 60 days


https://dl.doubtnut.com/l/_uNWI24NxmUmO
https://dl.doubtnut.com/l/_bRqXzT70viNV

D. 15 days

Answer: C

° Watch Video Solution

28. The flow of current through a resistor varies
directly with the voltage (V) across it. When voltage
across the resistor is 30 volts, the flow of current
through it is 5A. What is the flow of current when the

voltage across it is 60 volts?

A.10A

B.2.5A


https://dl.doubtnut.com/l/_bRqXzT70viNV
https://dl.doubtnut.com/l/_rDG9aeaiULlg

C.54A

D.20A4

Answer: A

° Watch Video Solution

29. For 20 Student, the mess bill for 12 days is Rs 7000.

In how many days will the mess charges to Rs 4900

for 8 students?

A. 20 days

B. 21 days

C. 22 days


https://dl.doubtnut.com/l/_rDG9aeaiULlg
https://dl.doubtnut.com/l/_SzI4WktdsKl5

D. 23 days

Answer: B

° Watch Video Solution

30. Frequency of vibration of a wire varies inversely
with its length. The frequency is 220 Hz when the
length of the wire is 120m. Find the frequency of the
wire when its length is 100 m.

A. 261

B. 262

C. 280


https://dl.doubtnut.com/l/_SzI4WktdsKl5
https://dl.doubtnut.com/l/_yunZqWzTP5E8

D. 264

Answer: D

° Watch Video Solution

31.if (2x+1):(5x-1) is the triplicate ratio of 3:4, then find
the value of x.

the following are the steps involved in solving the
above problem. Arrange them in sequential order.

(A (2 +1): (5z — 1) = 3°: 43

(B) 135x — 27 = 128z + 64

(C) 27(5x — 1) = 64(2z + 1)

91
(D)7w:91:>w—|—7:13


https://dl.doubtnut.com/l/_yunZqWzTP5E8
https://dl.doubtnut.com/l/_0fD7Qpks121R

A. ACBD

B. ABCD

C.BCAD

D. CABD

Answer: A

° Watch Video Solution

32. If A:B=3:2, B:C=4:3 and C:D=3:5, then divide Rs 360
among AB,C and D. the following are the steps
involved in solving the above problem. Arrange them

in sequential order.


https://dl.doubtnut.com/l/_0fD7Qpks121R
https://dl.doubtnut.com/l/_nEGZ8ZwO2ONW

§
(A) A's share = 3 x 360 = Rs120

B) = A:B:C:D =6:4:3:5
(Q)
A:B=3:2=6:3,B:C=4:3and C:D = 3:5
(D) to divide Rs 360 among AB,C and D, we should
know the value of A:B:C:D.

A. BCDA

B. DCBA

C. DABC

D. CDBA

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nEGZ8ZwO2ONW

r+vy
£ —Y

33. If x:15=y:6, then find the value of

The following problem. Arrange them is sequential

order.
(A) Applying componendo-dividendo.

(B) Product of means=Product of extremes. |tBrgt (C)
r+y 7
x—y a

(D) = =
)

3
5
2
(E) 6z = 15y

A. BDACE
B. BEDAC
C. BADEC

D. ABECD


https://dl.doubtnut.com/l/_nEGZ8ZwO2ONW
https://dl.doubtnut.com/l/_aF8h3eBxpwbj

Answer: B

° Watch Video Solution

34. if two numbers are in the ratio 520" then by

what percentage is the second number less that the
first? The following are the steps involved in solving
the above problem. Arrange them in sequential order
(A) Difference between the two numbers is 4x-3x=x.
(B) Given that the ratio of two numbers

L2 =20:15=4:3
~ 1520
Let the numbers of 4x and 3x.

(C) The percentage by which the second number is

less than the first number = % x 100% = 25%


https://dl.doubtnut.com/l/_aF8h3eBxpwbj
https://dl.doubtnut.com/l/_QSmwyY7ozDoE

(D) i.e., the second number is x less than the first

number.

A. BADC

B. BDAC

C. DBAC

D. ABDC

Answer: A

° Watch Video Solution

35. If the compound ratio of 9:x and (x+1):15 is 4:5,

then find the ratio of x and (x+9). The following are


https://dl.doubtnut.com/l/_QSmwyY7ozDoE
https://dl.doubtnut.com/l/_oZxHSSaRzUHI

the steps involved in solving the above problem.

Arrange them in sequential order.
(A) (9 + 9)5 = 4(15z)
B)9(z +1):15z = 4:5
Qz:(x+9) =1:4
(D) 15z =45 =z =3

A. BDAC

B. ABCD

C. DABC

D. BADC

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oZxHSSaRzUHI

36. if the ratio of the ages (in years) of x and y, 6 years

ago was 9:8 then which of the following can be the

sum of their ages 6 years from now?

A. 89 years

B. 85 years

C. 91 years

D. 92 years

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oZxHSSaRzUHI
https://dl.doubtnut.com/l/_2vZAVJeGnPnJ
https://dl.doubtnut.com/l/_Zu62QSr21xko

37. Which of the followin ratios are in descending

order?

A.9:13,7:9,8:11,11: 14

B.11:14,8:11,7:9,9:13

C.11:14,7:9,8:11,9:13

D.9:13,8:11,7:9, 11: 14

Answer: C

° Watch Video Solution

38. The monthly earnings and expenditures of A and B

are in the ratio 5:7 and 2:1 respectively. Find As


https://dl.doubtnut.com/l/_Zu62QSr21xko
https://dl.doubtnut.com/l/_eGhMqmhEhuNf

earning per month if the monthly savings of B is twice

that of A. Also given that A saves Rs 570 every month.

A.Rs. 900

B. Rs. 950

C.Rs. 1000

D. Rs. 1050

Answer: B

° Watch Video Solution

39. Runs scored by Ramu an Raju are in the ratio 4:5.

Runs scored by Raju and Ramesh are in the ratio 3:2.


https://dl.doubtnut.com/l/_eGhMqmhEhuNf
https://dl.doubtnut.com/l/_NhZwUQjkOcz7

How many runs did Raju score, if Ramesh scored 120

runs less than that of Ramu?

A. 800

B. 850

C.900

D. 950

Answer: C

° Watch Video Solution

40. A mixture contains milk and water in the atio of

5:6. on adding 8 litres of water, the ratio of milk and


https://dl.doubtnut.com/l/_NhZwUQjkOcz7
https://dl.doubtnut.com/l/_7bL2kWn9DgQb

water becomes 1:2. find the quantity of the milk in the

mixture. (in litres)

A 12

B.10

C.14

D.8

Answer: B

° Watch Video Solution

41. The present ages of Aruna and Karuna are in the

ratio 6:5. if the difference between their ages is 5


https://dl.doubtnut.com/l/_7bL2kWn9DgQb
https://dl.doubtnut.com/l/_kwjklwZJNqPd

years, then what will be the sum of their ages after 20
years? (in years)

A.75

B. 60

C.95

D. 100

Answer: C

° Watch Video Solution

42. |If Pz = @y = Rz , then find

(b—¢c) (c—a) (a—1b)
Pax + Qby + Rcz.



https://dl.doubtnut.com/l/_kwjklwZJNqPd
https://dl.doubtnut.com/l/_gitfLEFSSUOw

A P+Q+R

B.x+y+z

Ca+b+c

D.O

Answer: D

° Watch Video Solution

43. If z+y+z2=0 and

3 3 3 3 3 3
T’ + + z T z
4 — J = e = a, then which of
xYz TYz xYz

the following can be 'a”?

A.2


https://dl.doubtnut.com/l/_gitfLEFSSUOw
https://dl.doubtnut.com/l/_azikzIgEC4Mj

B.3

C.6

D.9

Answer: A

o Watch Video Solution

3 3 3
aaf =S = % then LT
b d  f b3+ d3 + f3
A1
3 a—+c+ e
"b+d+ f
2
a-+c+ e
C )

(b+d+ f)


https://dl.doubtnut.com/l/_azikzIgEC4Mj
https://dl.doubtnut.com/l/_26f0F4bUnD6U

ace

D. —
bd f

Answer: D

° Watch Video Solution

b
45, if p= Sa , then find the value of
a—+b

p + 4a n D+ 4b
p—4a p—4b )

A4

B.2

C.1

D.3


https://dl.doubtnut.com/l/_26f0F4bUnD6U
https://dl.doubtnut.com/l/_PuawX2ArN4wE

Answer: B

° Watch Video Solution

46. Twenty two men cann complete a piece of work in
17 days. They work for 2 days. How many more men
should now be employed so as to complete the work
in another 10 days?

A. 45

B. 60

C.57

D. 80


https://dl.doubtnut.com/l/_PuawX2ArN4wE
https://dl.doubtnut.com/l/_jo6hHnuDxOSj

Answer: A

° Watch Video Solution

47. Twenty two men cann complete a piece of work in
17 days. They work for 2 days. How many more men
should now be employed so as to complete the work
in another 10 days?

A 11

B. 22

C.33

D. 44


https://dl.doubtnut.com/l/_jo6hHnuDxOSj
https://dl.doubtnut.com/l/_AkgsdxopykBA

Answer: A

° Watch Video Solution

48. Twenty five men can make a certain number of
chairs in 80 working hours. They work for 10 hours.
How many more men should now be employed so as
to complete the work in another 50 working hours?
A.35
B. 25

C.20

D. 10


https://dl.doubtnut.com/l/_AkgsdxopykBA
https://dl.doubtnut.com/l/_2pnLIgWeFmJp

Answer: D

° Watch Video Solution

49, The ratio between two numbers is 3:5 and their
sum is 40. Find the larger of the two numbers.

A. 15

B. 20

C.25

D. 40

Answer: C

[ o WAL _ L vl e~_ 0.t ]



https://dl.doubtnut.com/l/_2pnLIgWeFmJp
https://dl.doubtnut.com/l/_yhBVfCjCnSBt
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50. In a bag, the number of Rs 10 notes, Rs 20 notes

and Rs 50 notes are in the ratio 5:4:3. the total value

of the notes in it is Rs 280. find the number of Rs. 10

notes in it.

A4

B.5

C.3

D. 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yhBVfCjCnSBt
https://dl.doubtnut.com/l/_VS0ULIMIWmHt

51. Which of the followin ratios are in descending

order?

A 12:17,9:13,7:11,13:19

B.12:17,7:11,13:19,9: 13

C.12:17,9:13,13:19,7: 11

D.12:17,13:19,9:13,7 : 11

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VS0ULIMIWmHt
https://dl.doubtnut.com/l/_3jorD27cyb7y

52. Raja divided 35 sweets among his daughters Rani
and Sita in the ratio 4:3. How many sweets did Rani
get?

A.16

B. 24

C.28

D. 20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dmeqH49sa4iC

53.In a bag, the numbers of Re 1 coins, 50 paise coins

and 25 paise coins are in the ratio 3:2:4. the total

value of the coins in it is Rs 50. Find the number of 50

paise coins in it.

A.10

B. 20

C.30

D. 40

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OhcYP9h76kio
https://dl.doubtnut.com/l/_lf8CtSt1SgL1

54.if P:Q: R = 2:3:4 and P? + Q* + R? = 11600
, then find P+Q+R, where PQ and R are whole
numbers.

A.15

B. 16

C.18

D. 20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lf8CtSt1SgL1

55. The age of a boy is one-fifth of the age of his
mother and the sum of the ages of the son and the
mother is equal to the age of the father. After 15
years, the sum of the ages of the son and his mother
will be four-third of his father's age. Find the ratio o
the present ages of son, mother and father

respectively.

Al:5:7

B.2:10:10

C.1:5:6

D.2:8:9

Answer: C


https://dl.doubtnut.com/l/_8Hfpy9wX16Zs

° Watch Video Solution

56.In a school, maximum strength of each class is 60.
In class VIII, the total number of students is a multiple
of 5. On a certain day, four boys were absent and the
ratio of the numbers of the remaining boys to that of
girls was 5:4. Find the ratio of the total boys to that of

girls.

A 3:2

B.4:3

C.2:1

D.5:4


https://dl.doubtnut.com/l/_8Hfpy9wX16Zs
https://dl.doubtnut.com/l/_sYYsDWxhM065

Answer: A

° Watch Video Solution

4./2
57. If x = , then find the value of
V241

r+2 422
T—2 g_-2/2

A.2
B.12 + 8,/2
C.12 — 8,/2

D. -2

Answer: B

| = |


https://dl.doubtnut.com/l/_sYYsDWxhM065
https://dl.doubtnut.com/l/_dgLXQQYjZCvx

| €& Watch Video Solution

58. A diamond worth Rs 640000 breaks into two pices
whose weights are in the ratio 5:3. if the value of the
diamond varies directly with square of its weight, then
find loss incurred due to breakage (in Rs).

A. 320000

B. 300000

C. 360000

D. 380000

Answer: B

[ ° Wiakrh \iAdAA Caliikian



https://dl.doubtnut.com/l/_dgLXQQYjZCvx
https://dl.doubtnut.com/l/_qwr3RCxwdfvQ
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59. In a vessel, the pressure of a gas varies directly
with its temperature, if its volume is kept constant,
when the pressure is increased from 1 atm to 3 atm,
then the temperature increases from 273 K to 'x' K.
What is the value of x, if volume ix kept constant?

A 91K

B.546 K

C.819K

D.900 K

Answer: C



https://dl.doubtnut.com/l/_qwr3RCxwdfvQ
https://dl.doubtnut.com/l/_w1ral8bvjopj

l @Y Watch Video Solution J

60. In a school there are 650 students. The ratio of the
boys to that fo the girls is 8:5. How many more girls
should join the school so that the ratio becomes 4:3?
A. 25
B. 50

C.100

D. 200

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_w1ral8bvjopj
https://dl.doubtnut.com/l/_8aLbRTjZvluK




